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[ he educated guess:

Table 10.2

§

C, a constant
n

n2

n.teZt
iﬂreR
.S1n 6n
.COS On
n'r"

r" sin 6n
r'" cos 6n

2&&“ - gé

(p)

A, a constant

Aln +A0

A2n2 -+ Aln -+ A()

A;n’ —+ Af.._lnr-] = e = Aln -+ AO“
‘éLH

A sin &n + B cos On

A sin On + B cos 6n

(A" + A"+ -+ Ain + Ay),

Ar" siné@n + Br" cos 6n
Ar* sin@n + Br" cos 6n
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Rule of thumb

If the guessed solution is a solution of the homogeneous

equation you multiply it by the smallest power of n such that
the guess is not anymore a solution of the homogeneous.
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